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Question 2

1)

2)

3)

4)

Borrowing is increased by AL:

The flow of funds is given by
Sp+ AL = QAK + AD + ABy,

The change in L will increase real capital (QK) which will result in a real return
for the firms. Since the firms and the banks earnings are distrabuted to the
households their wealth (W) will increase.

From the balance sheet we can see that

Wh= Dn + Bh 2 AWh= ADy + ABh

(1)C=C+(1-s(i))Y O<s(i<1l s'>0

(2) 1=1(i)) I'<0
(3)Y=C+I
(4) Q=Q(i) Q<0

Solving the system for Y:
Y=C+(1-s(ia)) Y +I(i1)
Y = (C+1(i1))/s(ia)

If the interest rate is increased, investments will be reduced (due to higher i,
I'(i1)) < 0 ), which will reduce Y.

Households are more eager to save since s’(iq) > 0, which reduces consumption
and will therefore reduce Y.

[ and C| leads to Y|, which makes sY|, holding s constant.
Since investement |}, sY| as well, since we are in a closed economy.

Increase in interest rate affect the balance sheet at the end of period 1:

If banks increase i without changing iq we will get a slightly different result:

Y = (C+1(1))/s(ia)

Since s(iq) doesn't change we will have a larger impact on Y, decreasing it even
more. Investment will also go || even more.
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